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alpha13_4eX1X:cyclenum {run == 5874}

5062 5062.5 5063 5063.5 5064
cyclenum

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

al
ph

a4
6_

4e
Y

4a
Y
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delta13_12X4eX:cyclenum {run == 5874}
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run:cyclenum {run == 5874}
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segment:cyclenum {run == 5874}
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usl_1X:cyclenum {run == 5874}
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usl_4aY:cyclenum {run == 5874}
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usl_4eX:cyclenum {run == 5874}
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usl_4eY:cyclenum {run == 5874}
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run:cyclenum {run == 5874}
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usr_1X:cyclenum {run == 5874}
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4a
Y

usr_4aY:cyclenum {run == 5874}
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usr_4eX:cyclenum {run == 5874}
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Y

usr_4eY:cyclenum {run == 5874}
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64−
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X
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run:cyclenum {run == 5874}
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13769

13769.5

13770
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co
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usl_coil1:cyclenum {run == 5874}
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usl_coil3:cyclenum {run == 5874}
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usl_coil4:cyclenum {run == 5874}
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usl_coil6:cyclenum {run == 5874}
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usl_coil7:cyclenum {run == 5874}
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usr_coil1:cyclenum {run == 5874}
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usr_coil3:cyclenum {run == 5874}
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usr_coil4:cyclenum {run == 5874}

5062 5062.5 5063 5063.5 5064
cyclenum

2166.2

2166.4

2166.6

2166.8

2167

2167.2

2167.4

2167.6

2167.8

2168

2168.2

2168.4

us
r_

co
il6

usr_coil6:cyclenum {run == 5874}
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1X_coil1:cyclenum {run == 5874}
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5062 5062.5 5063 5063.5 5064
cyclenum

228.5

229

229.5

230

230.5

4e
Y

_c
oi

l4
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5062 5062.5 5063 5063.5 5064
cyclenum

82−

81.5−

81−

80.5−

80−

12
X

_c
oi

l3
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